Large crowds were following Jesus.
What did He say to them about being a disciple?
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Follow the directions to find the answer. SRR\ © i h ; o ¢ ©
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the alphabet. Move the G to the end. T

3. Switch the second E and the Y.
Change the D to an R.

4. Change the B to the letter between U and W
in the alphabet. Change the AtoaT.

5. Change the J to the letter after M SAINT LUKE LUTHERAN CHURCH
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6. Switch the first and sixth letters.
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What did Jesus say next? Suppose a king is about to go

to war against another king. What will he do?
Think of a word to match the clues. Then fill in the blanks below.

Unscramble the names below. Use the numbered

letters to fill in the blanks and find the answer.
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